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1. Put your phones in the pouches/away

2. Complete your Warm-Up

1.

Given: AB=DE, 2zB=£E, and £A=2D

B
C F
A D )
Prove: AABC=ADBC
Statements Reasons
1. AB=DE 1. Given
2. Z 3 ’._f_f /. E |2Given
3, 2A=.D 3. Given
4.AABC=ADEF |4 AS n
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2.

Given: AE bizects BD, ZA=2E

E
Prove: AABC=AEDC
Statements Reasons
1. LA=/F 1. Swven
2. AE biseets BD | 2. Given
3. DCc ¥R 3. Definition of Bisect
4. 2ACB=sDCE |4 yerd. angles ArC T et
5. AABC=AEDC 5. f\n S

3.

Given: PQ||ST, PR=TR

ASAH vs. ﬂ\qTS

Prove: APQR=ATSR

Statements | Reasons
1. PR=TR 1. Given

2. T 2 ven
3.4‘02& AR A nt an ‘eS

4. _ADCE 4 \/en\ o\y\a\e m_
> APQR —’ATSF\S ASA
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_Given: C is the midpoint of AE , BA=DE, and

LA=LE

B
C
A

Prove: B = DC

C is twe midpoint o\AE G iven
BAZDE GiveEN
“Azce Griven
Ac = CE Def. of midpoind-
APBCXAedc | SAS
R’RCZDC oS ve

What am | learning today?

Learning Objective 2C.1

How to use the triangle
proportionality theorem

February 27, 2019
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What will | do to show that | have learned it?

| can...Use parallel lines in a triangle or 3
parallel lines cut with a transversal to create
proportional sides

Triangle Proportionality Theorem

If aline is _PARALLEL to one side of a triangle and it
INTERSECTS the other two sides, then it divides the sides
into segments of PROPORTIONAL |engths

o AB AE B _C
If BE || CD, then — = — A
BC ED
Blve - Blwe !
GCreen  Green
OR D
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If RT | VU, SV =3, VR=8,and UT = 12. Find SU.

3 " 2 %H 8 'V3'S
RO
3X< 36 «—7BX T2

s 8 %

X=4d.9 Xf"‘%

If AC | XY, AX =4, XB =10.5, and CB = 21.75. Find BY.

L‘/ ></o.c5
21.75 —X X
’ A.19
4X = 228.375 —10.Sx ,C
+10.9 X +10.5x

4.5x=23¢.375
S e
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If TU || QS, QR = 10, QT = 2, SR = x, and SU = 4. Solve for «x.

3 9
R B Q QT a
”;_\/S(X—L/ —2-%
3Rz Ax =&
+g +g

40 X
2

2
AD= X

(REVERSE) __ . T
Converse of Triangle Proportionality Theorem

If a line intersects two sides of a triangle and separates the sides
into PROPORTIONAL

corresponding segments, then the line
is PARALLEL 1o the third side of the triangle.

B C

AB  AE -
|f =— = —— then BE || CD A
BC ED
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DH =18, HE = 36, DG = 9, andélal:f: 18. Determine if GH/| FE.

D
a 13
g 30 A SA
. E 16 v

/

XY =15,YZ =25, WA = 18, and AZ = 32. Determine if WX | AY.

w X ,\)O.
N f1s 1% - 24
as |5e) A5

‘ Y50 7 U
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Two-Transversal Proportionality
|f § or more parallel lines intersect Z transversals,
then they divide the transversals PROPORTIONALLY

If AD || BE || CF, then — = —
BC EF A

i

Example:
Solve for the missing length.
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Classwork: u 0 00 00

Complete the classwork about using triangle
proportionality.

HW: On top of the bin.
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